JDE http://homepage.divms.viowa.edu/~idarcy/COURSES/100/week6a.htm]

1.) If g is continuous at ¢ = 0, then there is a unique
solution to the differential equation ay' + by + cy =

g(t), y(0)=1,y'(0)=3
/c; () B) False

2.) If g is continuous, then there is a unique solution
to the differential equation ay'' + by + cy = g(t), y(0)
=L y@)=3

A) True B) False

3.) If g is continuous, then there is a unique solution
to the differential equation ay'' + by + ¢y = g(t), y(0)
=1,y @®)=3

A) True B) False [f){__

4.) If g is continuous, then there is a unique solution
to the differential equation ay'' + by + cy = g(t), y(1)
=1,y'(1)=3
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